

$$y = x^2 \quad \text{find the slope}$$

Name: ONUDHA VANDESA SONTICHI

Matric No: 191MMS011349

Department: MBS

$$1. \quad \frac{11-3x}{x^2+2x-3}$$

$$\rightarrow \int \frac{11-3x}{x^2+2x-3} dx$$

From the denominator

$$x^2+2x-3=0$$

$$x^2+3x-x-3=0$$

$$x^2(x-1)(x+3)=0$$

$$\int \frac{11-3x}{x^2+2x-3} dx = \int \frac{11-3x}{(x-1)(x+3)} dx$$

Resolving $\frac{11-3x}{(x-1)(x+3)}$ into

partial fraction.

$$\frac{11-3x}{(x-1)(x+3)} = \frac{A}{x-1} + \frac{B}{x+3}$$

$$11-3x = A(x-1) + B(x+3)$$

$$11-3x = Ax - A + Bx + 3B$$

$$11 = 3B - A$$

$$-3x = Ax + Bx$$

$$-3 = A + B$$

$$A = -B - 3$$

$$11 = 3B + B + 3$$

$$11 = 4B + 3$$

$$2B = 11 - 3$$

$$2B = 8$$

$$B = 2$$

$$A = -2 - 3$$

$$A = -5$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{-5}{x+3} + \frac{2}{x-1}$$

$$= \int \frac{-5}{x+3} dx + \int \frac{2}{x-1} dx$$

$$= -5 \ln|x+3| + 2 \ln|x-1|$$

$$2 \int \frac{4x-16}{x^2-2x-3}$$

$$x^2-2x-3$$

$$= (x+3)(x-1)$$

using partial fraction.

$$\frac{4x-16}{(x+3)(x-1)} = \frac{A}{x+3} + \frac{B}{x-1}$$

$$4x-16 = A(x-1) + B(x+3)$$

$$4x-16 = Ax - A + Bx + 3B$$

$$4x-16 = Ax - A + Bx + 3B$$

$$4x = Ax + Bx$$

$$-16 = -A + 3B$$

$$A = 3B + 16$$

$$4 = A + B$$

$$4 = 3B + 16 + B$$

$$4 = 4B + 16$$

$$-12 = 4B$$

$$B = -3$$

$$4 = A + 3$$

$$A = 4 - 3$$

$$A = 1$$

$$\frac{4x - 16}{(x+3)(x-1)} = \frac{1}{(x+3)} + \frac{3}{(x-1)}$$
$$\int \frac{1}{(x+3)} dx + \int \frac{3}{(x-1)} dx$$

$$+ 1 \ln|x+3| + 3 \ln|x-1|$$